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Question Numbers : (1 to 5)
Question Label : Comprehension



Forty-one children were on Wednesday rescued from 12 toy factories in southwest Delhi's Azad Market.
Police sealed the factories on Ram Bagh Road and booked their owners.

The rescue operation was jomtly condueted by Bachpan Bachao Andolan (BBA). SDM (Kotwali) Daryagany.
the labour department. Bal Vikas Dhara and Delhi Police. All children are aged between 13 and 17 years and
belong to states like Bihar, JTharkhand and West Bengal.

The rescue teams said the children were living in "horrible” conditions. According to a member, "their clothes
were torn, and they were starved and overworked".

A 13-year-old boy, originally form West Bengal. said he and the other children would start their day around
9am and work t1ll 12 midnight—a gruelling 15 hours each day making toy parts at the factories. Afterwards,
they used to sleep in a cramped space inside the factory.

Terming it "a shame for the society”. BBA director Manish Sharma said, "Even after decades for achieving
mdependence. we haven't been able to free our kids from child labour. Children who should have been playing
with toys are making toys and working as slaves. Such incidents should make us all ashamed and angry."

In February this year. about 30 children working in various toy manufacturing units were rescued from
Wazirpur Industrial Area in northwest Delhi. Following this, Delhi high court had directed that a committee be
tormed under the supervision of the Delhi chief secretary and district DCPs. m close coordination with the
labour and women and child welfare departments and MCD., to inspect the premises of units that employed
child labourers.

Sub questions

Question Number : 1 Question Id : 68634021464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 15 the full form of BBA according to the given paragraph?
1. Bachao Bachpan Andolan
2. Bachpan Bachao Andolan
3. Bacha Bachao Andolan

4. Bachpana Bachao Andolan

Options :

68634084801. 1
68634084802. 2
68634084803. 3
68634084804. 4

Question Number : 2 Question Id : 68634021465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In what sense the word cramped is being used in this paragraph

1. Pamnful involuntary contraction of muscles

2

. Abdominal pain
3. Uncomfortably small or crowded

4. A tool, typically shaped like a capital G

Options :

68634084805. 1
68634084806. 2
68634084807. 3
68634084808. 4

Question Number : 3 Question Id : 68634021466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the opposite of the word 'gruelling' from the options given below?
1. Demanding
2. Relaximng
3. Grudgmng

4. Grubby

Options :

68634084809. 1
68634084810. 2
68634084811. 3
68634084812. 4

Question Number : 4 Question Id : 68634021467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The meaning of 'coordination’ s :

1. Ability to move in one direction.

2

. Ability to join different parts to form a picture.

Lad

. Ability to move different parts of the body smoothly and at the same tune.

4. To divide the atoms into its consitutent parts

Options :

68634084813. 1
68634084814. 2
68634084815. 3
68634084816. 4



Question Number : 5 Question Id : 68634021468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Child labour 1s prevalent even after decades and this 1 according to this passage.

1. A shame for our society.

[

. Shame for independent India.
3. Share for Delhi national capital

4. Shame for North-West Dellu

Options :

68634084817. 1
68634084818. 2
68634084819. 3
68634084820. 4

Question Id : 68634021463 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Forty-one children were on Wednesday rescued from 12 toy factories in southwest Delhi's Azad Market.
Police sealed the factories on Ram Bagh Road and booked their owners.

The rescue operation was jointly conducted by Bachpan Bachao Andolan (BBA). SDM (Kotwali) Daryagan;.
the labour department. Bal Vikas Dhara and Delhi Police. All children are aged between 13 and 17 years and
belong to states like Bihar. Tharkhand and West Bengal.

The rescue teams said the children were living in "horrible” conditions. According to a member, "their clothes
were torn, and they were starved and overworked".

A 13-year-old boy, originally form West Bengal. said he and the other children would start therr day around
Oam and work till 12 midnight—a gruelling 15 hours each day making toy parts at the factories. Afterwards.
they used to sleep in a cramped space inside the factory.

Terming it "a shame for the society”. BBA director Manish Sharma said, "Even after decades for achieving
mdependence. we haven't been able to free our kids from child labour. Children who should have been playing
with toys are making toys and working as slaves. Such incidents should make us all ashamed and angry."

In February this year, about 30 children working in various toy manufacturing units were rescued from
Wazirpur Industrial Area in northwest Delhi. Following this, Delhi high court had dirscted that a commuttee be
tormed under the supervision of the Delhi chief secretary and district DCPs. in close coordination with the
labour and women and child welfare departments and MCD. to inspect the premises of units that employed
child labourers.

Sub questions

Question Number : 1 Question Id : 68634021464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

What 15 the full form of BBA according to the given paragraph?

1. Bachao Bachpan Andolan

[

. Bachpan Bachao Andolan
3. Bacha Bachao Andolan

4. Bachpana Bachao Andolan

Options :

68634084801. 1
68634084802. 2
68634084803. 3
68634084804. 4

Question Number : 2 Question Id : 68634021465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what sense the word cramped is being used in this paragraph

1. Painful involuntary contraction of muscles

2

. Abdominal pain
3. Uncomfortably small or crowded

4. A tool, typically shaped like a capital G

Options :

68634084805. 1
68634084806. 2
68634084807. 3
68634084808. 4

Question Number : 3 Question Id : 68634021466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the opposite of the word 'gruelling' from the options given below?
1. Demanding
2. Relaxmg
3. Grudgmmg

4. Grubby

Options :

68634084809. 1
68634084810. 2
68634084811. 3



68634084812. 4

Question Number : 4 Question Id : 68634021467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The meaning of 'coordination’ 1s :

1. Ability to move in one direction.

[

. Ability to join different parts to form a picture.
3. Ability to move different parts of the body smoothly and at the same tune.

4. To drvide the atoms into its consitutent parts

Options :

68634084813. 1
68634084814. 2
68634084815. 3
68634084816. 4

Question Number : 5 Question Id : 68634021468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Child labour is prevalent even after decades and this 1s according to this passage.

1. A shame for our society.

2

. Shame for independent India.
3. Share for Delli national capital

4. Shame for North-West Dellu

Options :

68634084817. 1
68634084818. 2
68634084819. 3
68634084820. 4

Sub-Section Number : 2
Sub-Section Id : 686340702
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634021469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the antonym of 'Plenty’.

1. paucity

2

. multiply
3. conclude

4. richness

Options :

68634084821. 1
68634084822. 2
68634084823. 3
68634084824. 4

Question Number : 6 Question Id : 68634021469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pick out the antonym of 'Plenty".

1. paucity

[

. multiply
3. conclude

4. richness

Options :

68634084821. 1
68634084822. 2
68634084823. 3
68634084824. 4

Question Number : 7 Question Id : 68634021470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of underlined 1diom 1n the following sentence.
Though she is a rich lady. she should cut down her expenses.

1. increase

| B

. reduce
3. borrow

4. lose

Options :
68634084825. 1
68634084826. 2



68634084827. 3
68634084828. 4

Question Number : 7 Question Id : 68634021470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the meaning of underlined 1diom in the following sentence.
Though she 1s a rich lady, she should cut down her expenses.

1. merease

2. reduce

3. borrow

4, lose

Options :

68634084825. 1
68634084826. 2
68634084827. 3
68634084828. 4

Question Number : 8 Question Id : 68634021471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct active voice form of the following sentence.

The house was broken into at midnight by the thieves.

1. The thief broke into the house at midnight.

| S

. The thieves have broken the house at midnight.
3. At midnight the thieves had broken the house.

4. The thieves broke into the house at midnight.

Options :

68634084829. 1
68634084830. 2
68634084831. 3
68634084832. 4

Question Number : 8 Question Id : 68634021471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct active voice form of the following sentence.

The house was broken into at midnight by the thieves.

1. The thief broke into the house at midnight.

[

. The thieves have broken the house at midnight.
3. At midnight the thieves had broken the house.

4. The thieves broke into the house at midnight.

Options :

68634084829. 1
68634084830. 2
68634084831. 3
68634084832. 4

Question Number : 9 Question Id : 68634021472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the synonym of the following word :
ludicrous

1. ridienlous

[

. ereditable
3. humorous

4. serious

Options :

68634084833. 1
68634084834. 2
68634084835. 3
68634084836. 4

Question Number : 9 Question Id : 68634021472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick out the synonym of the following word :

ludicrous
1. ridiculous
2. creditable
3. humorous

4, serious

Options :

68634084833. 1
68634084834. 2
68634084835. 3
68634084836. 4

Question Number : 10 Question Id : 68634021473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identity the part of speech of the underlined word in the following sentence :
Are there any witnesses present ?
1. Article
2. Adjective
3. Adverb
4. Verb

Options :

68634084837. 1
68634084838. 2
68634084839. 3
68634084840. 4

Question Number : 10 Question Id : 68634021473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the part of speech of the underlined word in the following sentence :
Ave there any witnesses present ?

1. Article

[

. Adjective
3. Adverb
4, Verb

Options :

68634084837. 1
68634084838. 2
68634084839. 3
68634084840. 4

Question Number : 11 Question Id : 68634021474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements 1s true about Anti-Defection Law ?
1. It was added as the 11th Schedule in the Constitution
2. It was added through 85th Constitutional Amendment Act

3. It was added as the 10th Schedule in the Constitution

4. Tt was added through 50th Constitutional Amendment Act

Options :

68634084841. 1
68634084842. 2
68634084843. 3
68634084844. 4

Question Number : 11 Question Id : 68634021474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements 1s true about Anti-Defection Law ?
1. It was added as the 11th Schedule in the Constitution
2. It was added through 85th Constitutional Amendment Act

3. It was added as the 10th Schedule in the Constitution

4, It was added through 50th Constitutional Amendment Act

Options :

68634084841. 1
68634084842. 2
68634084843. 3
68634084844. 4

Question Number : 12 Question Id : 68634021475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MecMahon line marks the boundary of which two countries ?

1. China and Palastan

[ 2]

. China and India
3. USA and Canada

4. India and Bangladesh

Options :

68634084845. 1
68634084846. 2
68634084847. 3
68634084848. 4

Question Number : 12 Question Id : 68634021475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MecMahon line marks the boundary of which two countries ?

1. China and Palastan

[ 2]

. China and India
3. USA and Canada

4. India and Bangladesh

Options :
68634084845. 1



68634084846. 2
68634084847. 3
68634084848. 4

Question Number : 13 Question Id : 68634021476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
[Kiran Desai [. Pnanapith Award
A run Alcash Dev II. MMan Booker Prize

F.abindranath Tagore| II1. |Sahitva Akadem: Award
Nilamani Phookan | IV. [Nobel Prize for Literature

|0 =]

Choose the correct answer from the options given below:

1. A-II. B-1., C-IV. D-III

[ )

CA-ITL B-L C-IV, D-II

AL B-IIIL C-IV, D-1

L ¥ ]

4. A-IIL. B-IV. C-I, D-II

Options :

68634084849. 1
68634084850. 2
68634084851. 3
68634084852. 4

Question Number : 13 Question Id : 68634021476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
. [Kiran Desai [. Pnanapith Award
A run Alcash Dev II. MMan Booker Prize
F.abindranath Tagore| II1. |Sahitva Akadem: Award
. [Nilamani Phookan | IV. [Nobel Prize for Literature

o| ||

Choose the correct answer from the options given below:

1. A-II. B-1, C-IV. D-III

[ )

CA-ITL B-L C-IV, D-II

AL B-IIIL C-IV, D-1

L ¥ ]

4. A-IIL. B-IV. C-I, D-II

Options :

68634084849. 1
68634084850. 2
68634084851. 3
68634084852. 4

Question Number : 14 Question Id : 68634021477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ; One 1s lebelled as Assertion A and the other 15 labelled as Reason R.
Assertion A : One loses a day when he/she crosses 180° longitude east to west.

Reason R : The sun rises in the east and sets in the west and two places that are 15 degree of longitude apart
have a difference of 1 hour.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

| B

. Both A and R are true but R 1s not the correct explanation of A
3. A is true but R 1s false

4, A 1s false but R is true

Options :

68634084853. 1
68634084854. 2
68634084855. 3
68634084856. 4

Question Number : 14 Question Id : 68634021477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Griven below are two statements ; One 1s lebelled as Assertion A and the other 15 labelled as Reason R.
Assertion A : One loses a day when he/she crosses 180° longitude east to west.

Reason R : The sun rises in the east and sets in the west and two places that are 15 degree of longitude apart
have a difference of 1 hour.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

[

. Both A and R are true but R 1s not the correct explanation of A
3. A is true but R 1s false

4, A 1s false but R is true

Options :

68634084853. 1
68634084854. 2
68634084855. 3
68634084856. 4

Question Number : 15 Question Id : 68634021478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Indus Valley sites is located in Pakistan ?

1. Harappa

[

. Alamgirpur
3. Kalibangan

4. Lothal

Options :

68634084857. 1
68634084858. 2
68634084859. 3
68634084860. 4

Question Number : 15 Question Id : 68634021478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following Indus Valley sites is located in Pakistan ?

1. Harappa

2

. Alamgirpur
3. Kalibangan

4. Lothal

Options :

68634084857. 1
68634084858. 2
68634084859. 3
68634084860. 4

Question Number : 16 Question Id : 68634021479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are six statements, followed by four options of combinations of any three of the given sentences.
Choose the option 1n which the combinations are logically related :

A. All martians eat mutton.

B. All those who eat mutton are not Martians.
C. All those who eat mutton are herbitvorous.
D. Martians are carnivorous.

E. All those who eat mutton are carnivorous.
F. Martians are herbivorous.

1.LA.B.E
2.B.C.E
3 AED
4 A E.D

Options :

68634084861. 1
68634084862. 2
68634084863. 3
68634084864. 4

Question Number : 16 Question Id : 68634021479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are six statements. followed by four options of combinations of any three of the given sentences.
Choose the option in which the combinations are logically related :

A. All martians eat mutton.

B. All those who eat mutton are not Martians.
C. All those who eat mutton are herbitvorous.
D. Martians are carnivorous.

E. All those who eat mutton are carnivorous.
F. Martians are herbivorous.

1. A.B.E
2.B.C.E
3JACD
4 AE.D

Options :

68634084861. 1
68634084862. 2
68634084863. 3
68634084864. 4

Question Number : 17 Question Id : 68634021480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Deepak 13 Jaideep's son and Gomti's brother. Maya 1s Gomti's mother and Jyoti's daughter. Which of the
statements below 1s true?

1. Jyot1 1s Deepak's mother-in-law

[ ]

. Maya 1s Jaideep's mother

L 5]

. Jyoti 18 Jaideep's grandmother

s

. Jyoti 13 Deepak's grandmother

Options :

68634084865. 1
68634084866. 2
68634084867. 3
68634084868. 4

Question Number : 17 Question Id : 68634021480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Deepak 15 Jaideep's son and Gomti's brother. Maya 1s Gomti's mother and Jyoti's daughter. Which of the
statements below is true?

f—

. Jyoti 13 Deepak's mother-in-law

. Maya 13 Jaideep's mother

[}

. Jyoti 15 Jaideep's grandmother

LFN]

4. Jyoti 1s Deepak's grandmother

Options :

68634084865. 1
68634084866. 2
68634084867. 3
68634084868. 4

Question Number : 18 Question Id : 68634021481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Priya walks 5 metre towards west, takes a right turn and walks 5 meter again. She then takes another right tun
and walks 41 metres. She then takes a left turn and walks 43 metres before stopping. How far is she from the
starting point?

1. 80 metres

[

. 65 metres
3. 50 metres

4, 60 metres

Options :

68634084869. 1
68634084870. 2
68634084871. 3
68634084872. 4

Question Number : 18 Question Id : 68634021481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Priva walks 5 metre towards west, takes a right turn and walks 5 meter again. She then takes another right turn
and walks 41 metres. She then takes a left turn and walks 43 metres before stopping. How far is she from the
starting point?

1. 80 metres

[

. 65 metres

3. 50 metres

4, 60 metres



Options :

68634084869. 1
68634084870. 2
68634084871. 3
68634084872. 4

Question Number : 19 Question Id : 68634021482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will come 1n place of (?) in the series.
1,4,3,9,5,16,7,25,9,36,11, 7

1. 39

| )

.47
3.51
4. 49

Options :

68634084873. 1
68634084874. 2
68634084875. 3
68634084876. 4

Question Number : 19 Question Id : 68634021482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will come in place of (?) in the series.
1.4,3.9.5,16,7.25.9. 36,11, 7

1. 39

| ]

.47
3.51
4.49

Options :

68634084873. 1
68634084874. 2
68634084875. 3
68634084876. 4

Question Number : 20 Question Id : 68634021483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a certaimn code language.
"Darsha bought new car” 1s written as "as ho mv st"
"Darsha and Sudha siblings" is written as "ua as nc gs"
"Sudha bought new bike" 1s written as "ua mv ho ik"
"Car and Bike super” is written as "ik nc st pu”
Which of the following is the code for "Darsha Bike Super" 7
1. gs ik ne
2. as ik pu
3. ho ik as
4, as ik ph
Options :
68634084877. 1
68634084878. 2

68634084879. 3
68634084880. 4

Question Number : 20 Question Id : 68634021483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code language.
"Darsha bought new car” is written as "as ho mv st”
] 4 2 2 "o ik " n
Darsha and Sudha siblings" 1s written as "ua as ne gs
"Sudha bought new bike" 1s written as "va mv ho ik"
"Car and Bike super” is written as "ik ne st pu"
Which of the following is the code for "Darsha Bike Super" 7
1. gs itk ne
2. as ik pu
3. ho ik as
4. as ik ph

Options :

68634084877. 1
68634084878. 2
68634084879. 3
68634084880. 4



Question Number : 21 Question Id : 68634021484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A single 6-sided dice 1s rolled, then the probability of getting an odd number 1s -
1.172
2.1/3
3.1/6

4.1/12

Options :

68634084881.
68634084882.
68634084883.
68634084884.

W N =

Question Number : 21 Question Id : 68634021484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A single 6-sided dice 1s rolled, then the probability of getting an odd mumber 1s -
1.1/2
2.1/3
316

4.1/12

Options :

68634084881.
68634084882.
68634084883.
68634084884.

AW N ==

Question Number : 22 Question Id : 68634021485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 49 students, the ratio of girls to boys 1s 4:3. If 4 girls leave the class, the ratio of girls to boys
would be -

1. 7:9

[

.78

87

LFS]

4. 89



Options :

68634084885. 1
68634084886. 2
68634084887. 3
68634084888. 4

Question Number : 22 Question Id : 68634021485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a class of 49 students, the ratio of girls to boys 1s 4:3. If 4 girls leave the class, the ratio of girls to boys
would be -

1. 7:9

[

.78
3. 8.7
4. 8:9

Options :

68634084885. 1
68634084886. 2
68634084887. 3
68634084888. 4

Question Number : 23 Question Id : 68634021486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If income of A 1s 20% more than that of B. then income of B 18 how much percent less than that of A?

1. 10%

[ 2]

. 20%

3
3. 16=%
2

2
4. 16=%
3

Options :

68634084889. 1
68634084890. 2
68634084891. 3
68634084892. 4

Question Number : 23 Question Id : 68634021486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If income of A is 20% more than that of B. then income of B 18 how much percent less than that of A?

1. 10%

2

. 20%

3
3. 16="%
2

2
4. 16=%
3

Options :

68634084889. 1
68634084890. 2
68634084891. 3
68634084892. 4

Question Number : 24 Question Id : 68634021487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average of 5 consecutive odd positive integers 1s 9. Then sum of smallest and greatest number 1s -
1.4

2.3

4. 13

Options :

68634084893. 1
68634084894. 2
68634084895. 3
68634084896. 4

Question Number : 24 Question Id : 68634021487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average of 5 consecutive odd positive integers 1s 9. Then sum of smallest and greatest number i1s -
1.4

2.5

4. 13

Options :
68634084893. 1



68634084894. 2
68634084895. 3
68634084896. 4

Question Number : 25 Question Id : 68634021488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2.5 x =0.05 v, then find the value of [ 2 ] .
y+x

..
51

49
3l

_L_J

Options :

68634084897. 1
68634084898. 2
68634084899. 3
68634084900. 4

Question Number : 25 Question Id : 68634021488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2.5 x =0.05 y, then find the value of [ 2= ] .

y+x

.
51

49
51

_L_.l

Options :

68634084897. 1
68634084898. 2
68634084899. 3



68634084900. 4

Part B: Music Hindustani

Section Id : 686340426
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340703
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634021489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

S.N Ratanjankar belongs to which Gharana ?

1. Agra

2. Patiala

L]

. Jaipur
4, Kirana

Options :

68634084901. 1
68634084902. 2
68634084903. 3
68634084904. 4

Question Number : 26 Question Id : 68634021489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
T, T IoAwias &1 SaY {5 TRE 9 87
1. HENI

. gfedrar

4. T

Options :

| )

Lad



68634084901. 1
68634084902. 2
68634084903. 3
68634084904. 4

Question Number : 27 Question Id : 68634021490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sadarang and Adarang were the court musicians of ?

1. Allaunddin Khilj

| ]

. Akbar
3. Mohammad Shah Rangeele

4. Bahadurshah Zafar

Options :

68634084905. 1
68634084906. 2
68634084907. 3
68634084908. 4

Question Number : 27 Question Id : 68634021490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSR 3GRT 9 avar 4 Wiy 22
. HATIE I el
AP E
. HigHE TITE T

4. 915X U6 AP

[a—y

| ]

Lad

Options :

68634084905. 1
68634084906. 2
68634084907. 3
68634084908. 4

Question Number : 28 Question Id : 68634021491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Dhiruva Gana has been discussed in:

1. Sangeet Ratnakar

2

. Natyashastra
3. Sangeet Makarand

4. Brihaddeshi

Options :

68634084909. 1
68634084910. 2
68634084911. 3
68634084912. 4

Question Number : 28 Question Id : 68634021491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT T ® 91 [pa H BT o -

1. Tt YTy

| ]

TR
4. et

Options :

68634084909. 1
68634084910. 2
68634084911. 3
68634084912. 4

L)

Question Number : 29 Question Id : 68634021492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the emperor who promoted Dhrupad:

1. Sultan Hussain Sharqui

[

. Maan Singh Tomar

LX)

. Wajid Ali Shah
4. Allauddin Khilji
Options :

68634084913. 1
68634084914. 2



68634084915. 3
68634084916. 4

Question Number : 29 Question Id : 68634021492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
39 WS &1 A1 g o 4ue &1 Uienied foar ;

A g9 TH 1

1M &5 TR

 aTfeig ereiiame

[ E— oy

4, A3 F RaeToll

=

-

L]

Options :

68634084913. 1
68634084914. 2
68634084915. 3
68634084916. 4

Question Number : 30 Question Id : 68634021493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The second Dhatu in Prabandh was :

1. Udgrah

[

. Dhruv

. Abhog

Lad

4. Melapak

Options :

68634084917. 1
68634084918. 2
68634084919. 3
68634084920. 4

Question Number : 30 Question Id : 68634021493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



5

3. HTHIT
4. IS

Options :

68634084917. 1
68634084918. 2
68634084919. 3
68634084920. 4

Question Number : 31 Question Id : 68634021494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sadharanikrita was the variety of :

1. Ashtapadi

[

. Prabandha
3. Jati

4, Murchhana

Options :

68634084921. 1
68634084922. 2
68634084923. 3
68634084924. 4

Question Number : 31 Question Id : 68634021494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UIYRUIGHId b BT UbR U7

1. 3FUl

g
o

4, TSl

Options :
68634084921. 1
68634084922. 2



68634084923. 3
68634084924. 4

Question Number : 32 Question Id : 68634021495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When shrutis are well established 1n its proper sequence. then it 1s called?
1. Alankar
2. Gram

Jati

Lad

4. Raga

Options :

68634084925. 1
68634084926. 2
68634084927. 3
68634084928. 4

Question Number : 32 Question Id : 68634021495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oTd Yfodl o1 et H H GRUITd f5ar o1 8. 9@ Feardr e -

1. HAD

| )

.
3. ofd
4. 37

Options :

68634084925. 1
68634084926. 2
68634084927. 3
68634084928. 4

Question Number : 33 Question Id : 68634021496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Raga has vadi-Ga, samvadi-N1 and use of Tivra Madhyam 1n it:

1. Yaman

2

. Bhairav
3. Deshlar

4. Multani

Options :

68634084929. 1
68634084930. 2
68634084931. 3
68634084932. 4

Question Number : 33 Question Id : 68634021496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fop I 1 A< - 71, HaTe! - 1 § auT dig H1e0H BT WA sidl o -
1. g0
.iNg

3. GYAER
4. gadrt

Options :

68634084929. 1
68634084930. 2
68634084931. 3
68634084932 4

| ]

Question Number : 34 Question Id : 68634021497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pitch 15 an element of :

1. Prabandh

[

. Vibration
3. Naad

4. Harmony

Options :
68634084933. 1
68634084934. 2



68634084935. 3
68634084936. 4

Question Number : 34 Question Id : 68634021497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IRa g HTaas .
1. yaY

.y

| ]

3. la
4 l ot 1

Options :

68634084933. 1
68634084934. 2
68634084935. 3
68634084936. 4

Question Number : 35 Question Id : 68634021498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sign of Tara saptak swaras in Vishnu Dugambar Paluskar swaralipi paddhati 1s:

1. Ga Ma Pa

()

du :'\l.'lﬂ f:'él

L)

. Ga Ma Pa

4 G

Ia Pa

[
-
()

Options :

68634084937. 1
68634084938. 2
68634084939. 3
68634084940. 4

Question Number : 35 Question Id : 68634021498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fawpfeTmrer WRiY gl 4 aR 9w® & @Rl &1 €08 ¢ -

LidHY

| ]

AT
3. 7HY
4,781

Options :

68634084937. 1
68634084938. 2
68634084939. 3
68634084940. 4

Question Number : 36 Question Id : 68634021499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many melas have been referred in mela prakaran of swaramela kalanidhi:
1.14
2. 20

19

L]

4.23

Options :

68634084941. 1
68634084942. 2
68634084943. 3
68634084944. 4

Question Number : 36 Question Id : 68634021499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R A A & O Jepo d Jal & I8l & -

1. 14

[ ]

.20

.19

Lad

4. 23

Options :
68634084941. 1
68634084942. 2



68634084943. 3
68634084944. 4

Question Number : 37 Question Id : 68634021500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SREXSM.PGMPGRS - 1s the phrase belongs to which raga?

1. Bageshri

[ )

. Patdeep

L% )

. Bhimpalasi

4 Kafi

Options :

68634084945. 1
68634084946. 2
68634084947. 3
68634084948. 4

Question Number : 37 Question Id : 68634021500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YA WY, 9T Y, T -1l b I Bl 3
1. gEIgt

RGEL

3. HimoerE

4. I

Options :

68634084945. 1
68634084946. 2
68634084947. 3
68634084948. 4

[ ]

Question Number : 38 Question Id : 68634021501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tansen was a Dhrupadiva of:

1. Dagar Bani

2

. Khandar Bani
3. Navhar Bami

4. Gavhar Bani

Options :

68634084949. 1
68634084950. 2
68634084951. 3
68634084952 4

Question Number : 38 Question Id : 68634021501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IS b & yafean 42
1. SR St
GSR gl
e ot
4, TigR aroff

Options :

68634084949. 1
68634084950. 2
68634084951. 3
68634084952. 4

| ]

Lad

Question Number : 39 Question Id : 68634021502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many Ragas and raginis are mentioned in Raga-Raguu classification according to '‘Bharat' and
Hanumant' matt?

1. 6 Ragas 36 Raginis

[ ]

. 6 Ragas 30 Ragims

. 5 Ragas 36 Ragims

L]

4. 6 Ragas 35 Raginis

Options :
68634084953. 1
68634084954. 2



68634084955. 3
68634084956. 4

Question Number : 39 Question Id : 68634021502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT I FBR0T & 1Ra Gl ggHa 1 3 faba 1 1A &1 Seeid 6 2
1. 6 T TAT 36 AMAH

. 6 TAT TYT 30 A

[ ]

S T 36 AT

Lad

4. 6 AT YT 35 AR

Options :

68634084953. 1
68634084954. 2
68634084955. 3
68634084956. 4

Question Number : 40 Question Id : 68634021503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which thaat of Hindustani Music 1s similar to minor scale of western music.

1. Asavari

[

. Bilawal

. Tod1

LX)

4. Kafi

Options :

68634084957. 1
68634084958. 2
68634084959. 3
68634084960. 4

Question Number : 40 Question Id : 68634021503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[Eraedil ST T &I |1 YT YT Siid & AT5AR (Minor) HI® (Scale) & FHM © -
1. 3T

REGIEEN]

3. qret

4. BB

Options :

68634084957. 1
68634084958. 2
68634084959. 3
68634084960. 4

[ ]

Question Number : 41 Question Id : 68634021504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shahid Parvez 1s a representative of ;
1. Maihar Gharana

2. Etawa Gharana

L]

. Vishnupur Gharana

4, Jaipur Senia Gharana

Options :

68634084961. 1
68634084962. 2
68634084963. 3
68634084964. 4

Question Number : 41 Question Id : 68634021504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mg WRad 9 & Uiy 32

HER ORI

. GeTdl BRI

. FOwqR wRT

4. SR A1 9_ET

fa—y

[ ]

Lad

Options :
68634084961. 1
68634084962. 2



68634084963. 3
68634084964. 4

Question Number : 42 Question Id : 68634021505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vilayat Hussamn Khan was a representative of which Gharana?
1. Agra

2. Patiala

Faat

. Jaipur
4. Kirana

Options :

68634084965. 1
68634084966. 2
68634084967. 3
68634084968. 4

Question Number : 42 Question Id : 68634021505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faemad g8 @ farg TRH & wlafAf 4

1. 3R
. gfearar

SR
4. T

Options :

68634084965. 1
68634084966. 2
68634084967. 3
68634084968. 4

[ ]

Lad

Question Number : 43 Question Id : 68634021506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Alladiya khan was founder of which Gharana?

1. Patiala

2

. Kirana
3. Delhi
4. Jaipur

Options :

68634084969. 1
68634084970. 2
68634084971. 3
68634084972. 4

Question Number : 43 Question Id : 68634021506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHeTiea @i oo wRH & SR U 2
1. gfeare
fep T
3. Tt

4, SR

Options :

68634084969. 1
68634084970. 2
68634084971. 3
68634084972 4

| ]

Question Number : 44 Question Id : 68634021507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which raga of the following has both the Gandhar and Nishad?

1. Brindabani Sarang

[

. Ramkali
3. Jajjawanti

4. Multani

Options :
68634084973. 1
68634084974. 2



68634084975. 3
68634084976. 4

Question Number : 44 Question Id : 68634021507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafaa # 3 feeg 3§ 391 iR qur <41 R ST IEr gl e
1. fe=Taml IR
Tl

. O1g- S gl

4. gadr!

Options :

68634084973. 1
68634084974. 2
68634084975. 3
68634084976. 4

| ]

Lad

Question Number : 45 Question Id : 68634021508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which note is known as Addhva-Darshak swara?

1. Pancham

2

. Madhyam

. Dhaivat

Lad

4. Gandhar

Options :

68634084977. 1
68634084978. 2
68634084979. 3
68634084980. 4

Question Number : 45 Question Id : 68634021508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P g1 TR 3{td <P WX Peddl g ?

1. 999

| ]

gy
3. 9ad
4. TR

Options :

68634084977. 1
68634084978. 2
68634084979. 3
68634084980. 4

Question Number : 46 Question Id : 68634021509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5/4 layakar 1s known as

1. Kuad

[

.Ada
3. Biad

4, Barabar

Options :

68634084981. 1
68634084982. 2
68634084983. 3
68634084984. 4

Question Number : 46 Question Id : 68634021509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5/4 OB Heddl o

[am—y

P

| ]

CHlg

[ ]

faams

4. &§lldY

Options :
68634084981. 1
68634084982. 2



68634084983. 3
68634084984. 4

Question Number : 47 Question Id : 68634021510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not included as the Ten prana of Tala?

1. Graha

[

. Marga

. Tenak

Lad

4. Laya

Options :

68634084985. 1
68634084986. 2
68634084987. 3
68634084988. 4

Question Number : 47 Question Id : 68634021510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B 91 a1 & o9 W & Qi e 8
1. 98
nf
3. TP

[ )

4. ¢4

Options :

68634084985. 1
68634084986. 2
68634084987. 3
68634084988. 4

Question Number : 48 Question Id : 68634021511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one 1s not the characteristics of Naad?

1. Pitch

2

. Timbre

. Intensity

Lad

4. Alanlkar

Options :

68634084989. 1
68634084990. 2
68634084991. 3
68634084992. 4

Question Number : 48 Question Id : 68634021511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I T 1S BT AL 6] 57
1. T
BSiin
3. digdl

4. AADBR

| ]

Options :

68634084989. 1
68634084990. 2
68634084991. 3
68634084992. 4

Question Number : 49 Question Id : 68634021512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identity the Taal having 14 Matra:-

1. Thaptala

2

. Ada Chautala

Lad

. Rupak

4. Tilwada

Options :

68634084993. 1
68634084994. 2
68634084995. 3



68634084996. 4

Question Number : 49 Question Id : 68634021512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 TTAT 1 el BT iU -
IS BRI

3. 9D

4. faerarst

Options :

68634084993. 1
68634084994. 2
68634084995. 3
68634084996. 4

| ]

Question Number : 50 Question Id : 68634021513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous composer of Western music from Austria :

1. Mozart

2

. Beethovan

.Bach

Lad

4. Handel

Options :

68634084997. 1
68634084998. 2
68634084999. 3
68634085000. 4

Question Number : 50 Question Id : 68634021513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T GG A S & UG WEHeR 6
1. HIee
BCUIGE

L)

j.dld

4.8sd

Options :

68634084997. 1
68634084998. 2
68634084999. 3
68634085000. 4

[ ]

Question Number : 51 Question Id : 68634021514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first to invent fretted Veena?
1. Bharata
2. Sharangadeva
3. Matanga

4. Lochan

Options :

68634085001. 1
68634085002. 2
68634085003. 3
68634085004. 4

Question Number : 51 Question Id : 68634021514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR d107 &1 SfaspR Fawud [ faa 2
1. WRd
. QREd
3. HAT
4. dr=T

Options :
68634085001. 1
68634085002. 2

| )



68634085003. 3
68634085004. 4

Question Number : 52 Question Id : 68634021515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which artist mitiated 6 main strings i sitar?

1. Ravi Shankar

[

. Mushtaq Ali Khan

Lad

. Vilayat Khan
4. Nikhil Banerjee

Options :

68634085005. 1
68634085006. 2
68634085007. 3
68634085008. 4

Question Number : 52 Question Id : 68634021515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fep g Hearep R 7 AR O 4= 6 dRI &1 W= J= fobar 2
1. QG

. AT 37l i

BCRILREC]

4, Ffae gt

Options :

68634085005. 1
68634085006. 2
68634085007. 3
68634085008. 4

-

L]

Question Number : 53 Question Id : 68634021516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct next sequence of the Alankar: GSREM G. MR G P M.......
1.PGMDP
2PMGDP
3.3 PEMGP

4 PMGRG

Options :

68634085009. 1
68634085010. 2
68634085011. 3
68634085012. 4

Question Number : 53 Question Id : 68634021516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AABR THIHM AINYH, ... DI 3T gl 6H AT
1L9THYY
2HTYY
3.03HTY

4. GO

Options :

68634085009. 1
68634085010. 2
68634085011. 3
68634085012. 4

Question Number : 54 Question Id : 68634021517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

While performing Raga Bhairavi and taking the phrase - GMDNS.DNDS.MDN G SN DN § will be
the Tirobhava of the raga.

1. Mallzaun
2. Bhairav
3. Bhimpalasi

4. Khamaj

Options :
68634085013. 1



68634085014. 2
68634085015. 3
68634085016. 4

Question Number : 54 Question Id : 68634021517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1Al BT HesH $Xd §94 FHEariacil _
THYA . iy m ATy g ot S, 99 ue o I &1 foRivig g

1. OIS
. iRg
3, sfigardt

4. GHI]

| ]

Options :

68634085013. 1
68634085014. 2
68634085015. 3
68634085016. 4

Question Number : 55 Question Id : 68634021518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Baaj and Joda string of sitar are tuned to the swaras:

1.Re - Dha

2

. Ga - Dha
3. Pa-5a
4. Ma-5a

Options :

68634085017. 1
68634085018. 2
68634085019. 3
68634085020. 4

Question Number : 55 Question Id : 68634021518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FdR & a1 a1 Sils & aR &l & Wl 3 framar san e -

1.Y-81

[ ]

AM-d1
3.39-9

4. 7H-9

Options :

68634085017. 1
68634085018. 2
68634085019. 3
68634085020. 4

Question Number : 56 Question Id : 68634021519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 1s not correct i context of Bhumpalasi and Bageshri:

1. Both use Ga. Ni

[

. Both are from Kafi Thaat
3. Both have Audav Sampurna Jati

4. Both have Teevra Madhyam

Options :

68634085021. 1
68634085022. 2
68634085023. 3
68634085024. 4

Question Number : 56 Question Id : 68634021519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et ot arigl & e 1w get el § -
1. &F 11, = war

I BIHT YT & W E

&I Bt §Ifd Slisa-grui g

4. G 8 ofig Ay o1 WO gl 8

Options :
68634085021. 1
68634085022. 2

[

L)



68634085023. 3
68634085024. 4

Question Number : 57 Question Id : 68634021520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Strings of Tanpura are tuned as:

1.PSSS

[

PSSS

.PSSP

L]

4 PSSS

Options :

68634085025. 1
68634085026. 2
68634085027. 3
68634085028. 4

Question Number : 57 Question Id : 68634021520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR S IR AaR o 3 -

LYIgd

| ]

R

g9y

Lad

4. 9844

Options :

68634085025. 1
68634085026. 2
68634085027. 3
68634085028. 4

Question Number : 58 Question Id : 68634021521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which 15 not the variety of Gamak as mentioned by Sharangdeva :
1. Vidari
2. Tirip
3. Vali

4. Kurul

Options :

68634085029. 1
68634085030. 2
68634085031. 3
68634085032. 4

Question Number : 58 Question Id : 68634021521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I T RIS R 20 THS ST a6 6 -
1. faert

fafg

3. dfef

4.0

Options :

68634085029. 1
68634085030. 2
68634085031. 3
68634085032. 4

| ]

Question Number : 59 Question Id : 68634021522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Using Baaj and Chikari (Taar) strings in Drut speed 18 known as :

1. Alap

[

. Jhala
3. Bol-Alap
4. Jati-Gayan

Options :
68634085033. 1
68634085034. 2



68634085035. 3
68634085036. 4

Question Number : 59 Question Id : 68634021522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5o T & & qut et 3 v o Bed §

1. ATy

| ]

ST
 JId - 3Ty

4. SIf - T

Options :

68634085033. 1
68634085034. 2
68634085035. 3
68634085036. 4

Lad

Question Number : 60 Question Id : 68634021523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Teevra, Kumuditi, Manda ete are the names of:

1. Tana

[

. Gamalk

. Shruti

L]

4. Alankar

Options :

68634085037. 1
68634085038. 2
68634085039. 3
68634085040. 4

Question Number : 60 Question Id : 68634021523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



citarT, Sfedt, Hear fog & am

1. di+d

{J'LI,-:J

[ ]

AHD

3. 4fd
4. HAPR

Options :

68634085037. 1
68634085038. 2
68634085039. 3
68634085040. 4

Question Number : 61 Question Id : 68634021524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which specialty of Naad helps in understanding the quality of sound?

1. Intensity

[ 2]

. Tumbre
3. Duration

4, Pitch

Options :

68634085041. 1
68634085042. 2
68634085043. 3
68634085044. 4

Question Number : 61 Question Id : 68634021524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 @1 B dI [GRIYdT & &1 quradl & Hg- J g1 gldl?
1. digd

BEiiG

3. 3afy

[ ]

4, dIXdl

Options :
68634085041. 1
68634085042. 2



68634085043. 3
68634085044. 4

Question Number : 62 Question Id : 68634021525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which Raga uses the same nature swaras as Multani?
1. Kamod
2. Asawari

. Todi

Lad

4. Ramlali

Options :

68634085045. 1
68634085046. 2
68634085047. 3
68634085048. 4

Question Number : 62 Question Id : 68634021525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frg 20T H erar & 99 TR 31 TP S yan gl g
1. DA
. {rETEdd
3. qISt
4. qHB Al

Options :

68634085045. 1
68634085046. 2
68634085047. 3
68634085048. 4

| ]

Question Number : 63 Question Id : 68634021526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who 1s the author of 'Pranav-Bharti' ?

1. Vilayat Khan

2

. Omkarnath Thakur
3. Mansingh Tomar

4. JTaidev

Options :

68634085049. 1
68634085050. 2
68634085051. 3
68634085052. 4

Question Number : 63 Question Id : 68634021526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UG YR & TGP § 2
1. fqemaa @i
. HTPRATY STH
AR dER

4. 910<d
Options :
68634085049. 1
68634085050. 2
68634085051. 3
68634085052. 4

[

L)

Question Number : 64 Question Id : 68634021527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 1s not a variety of Varna?

1. Arohlu

[ 2]

. Abhogh

. Sanchari

L]

4, Sathai

Options :

68634085053. 1
68634085054. 2
68634085055. 3



68634085056. 4

Question Number : 64 Question Id : 68634021527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 91 901 1 YBR Tal &7
1. ARIGH
T
3. AR
4. Tyt

Options :

68634085053. 1
68634085054. 2
68634085055. 3
68634085056. 4

[ )

Question Number : 65 Question Id : 68634021528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the Tala: 'Dhin-Dhin-Dhage-Tirkat'

1. Eltala

[

. Tilwada

L]

. Thaptala
4, Teevra

Options :

68634085057. 1
68634085058. 2
68634085059. 3
68634085060. 4

Question Number : 65 Question Id : 68634021528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR 18 e foRfepe a1er 1 ggan=1u -
1. Yehdlel

faarst

. AHdIed

4. e

Options :

68634085057. 1
68634085058. 2
68634085059. 3
68634085060. 4

| B

L)

Question Number : 66 Question Id : 68634021529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one 1s allied Raga of Deshkar?
1. Yaman
2. Des
3. Brindabani Sarang

4. Bhupali

Options :

68634085061. 1
68634085062. 2
68634085063. 3
68634085064. 4

Question Number : 66 Question Id : 68634021529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I SRR BT DI I 82
1. 8-
et
3. fasTaHit I
4. et

Options :
68634085061. 1
68634085062. 2

[ ]



68634085063. 3
68634085064. 4

Question Number : 67 Question Id : 68634021530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sthaya of Raga Todu:

1L.LRG M GRGRS

2
I
(]
=
(]
B
I
(2=]

L]
2=
I
I
wn
Z
(]
b
o

4.RGp GRGRS

Options :

68634085065. 1
68634085066. 2
68634085067. 3
68634085068. 4

Question Number : 67 Question Id : 68634021530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A IS BT Yol TG AT
FRIESS)

|

e}

w*
1=

HEES]

[
At
&
-
e
4

L]
|
|-
w)
|
,{.|.J

~
I:I
|A+J H
|
,qJ

4,

Options :

68634085065. 1
68634085066. 2
68634085067. 3
68634085068. 4

Question Number : 68 Question Id : 68634021531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which notes will be deleted in raga Des to get the scale of raga Brindabani Sarang?

1. Re and Ma in descent

2

. Dha and Ga in descent
3. Ma and Dha 1n ascent

4. Re and Pa in ascent

Options :

68634085069. 1
68634085070. 2
68634085071. 3
68634085072. 4

Question Number : 68 Question Id : 68634021531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T S8 1 o Wl 1 afold oes 1 fawsTaT R &7 9wde e
1. HRIEH YquUrH
. 3aRE § 41 aur
. SRIE T [T a1 o
4, MRIGHIAUIY

Options :

68634085069. 1
68634085070. 2
68634085071. 3
68634085072. 4

| ]

faa

Question Number : 69 Question Id : 68634021532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which are correct in context of Hamir, Kedar and Gaud Sarang?

A. All belongs to Kalyan Thaat

B. All use Shuddha Madhyam

C.PS SR S phrase is commen in all Ragas
D. All use Teevra Madhyam

E. All are seasonal Ragas

Choose the most appropriate answer from the options given below:
1.A.B.D.E only
2. A . B.C.Donly
3.B.C.D.E only

4. A C.D.E only

Options :

68634085073. 1
68634085074. 2
68634085075. 3
68634085076. 4

Question Number : 69 Question Id : 68634021532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BHR, PaR auT TS YRIT & deY H 1 I8! 87

A. Tt BT UTE HeTur B |

B. Wi & S oA 1 v g B
C. TRaeH g g H I F WA F A ot 7
D. 941 ¥ dig 9eqq ST yanT gidl g
E. gt gigeft I 8

= fau g fawedt # 9 95l SR &1 9949 B -
1.%dd A, B.D.E

.%dd A, B.C.D

3. %40 B, C.D,E

4.Pad A, C,D,E

Options :

68634085073. 1
68634085074. 2
68634085075. 3
68634085076. 4

| ]



Question Number : 70 Question Id : 68634021533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Varieties of Prabandh are:

A. Sthai

B. Viprakeerna
C. Suda

D. Sanchan

E. Pridhula

Choose the correct answer from the options given below:

1. A and B only

| S

.Aand C only
3.B and C only

4. D and E only

Options :

68634085077. 1
68634085078. 2
68634085079. 3
68634085080. 4

Question Number : 70 Question Id : 68634021533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EY H UPR G -

A Tt
B. fauapiu
C. 3
D. TaRI
E. QYdl
e e U f[asedl § O Tal 393 &1 904 Bl

1. %ad A SR B
Pad A AR C
3.%adB AR C
4. %$aAD ARE

Options :

68634085077. 1
68634085078. 2
68634085079. 3

| ]



68634085080. 4

Question Number : 71 Question Id : 68634021534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Works of Pt .W.D. Paluskar are .

A. Sangeet Bal Prakash
B. Hindu Music

C. Sangeetanjali

D. Bhajanamrit Lehn

E. Kramik Pustak Malika

Choose the correct answer from the options given below:

1. A and B only

| B

.Band C only
3. Aand D only

4. C and E only

Options :

68634085081. 1
68634085082. 2
68634085083. 3
68634085084. 4

Question Number : 71 Question Id : 68634021534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@ S TR F IR
A. Hiid ard bl
B-%Ef = a;ﬁ
CI

D:Waﬁﬁ
E. it Q&I ATfas]

-1 feU T faeedl # ¥ Hel 3R &1 =80 S -
1. %ad A SR B

. PaAB AR C

3.%adAARD

4, %qd C 3R E

Options :
68634085081. 1

| ]



68634085082. 2
68634085083. 3
68634085084. 4

Question Number : 72 Question Id : 68634021535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which are the parts used 1n illustration of Dhrupad.

A. Upaj

B. Boltan
C. Tana

D. Layakari
E. Behlawa

Choose the correct answer from the options given below:

1. B and C pnly

| B

.Aand D only
3. Cand D only

4. D and E only

Options :

68634085085. 1
68634085086. 2
68634085087. 3
68634085088. 4

Question Number : 72 Question Id : 68634021535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y0 o YaRH o fdo diell T T sl g -
A. 30
B. diddH
C.d
D. GUPRI
E. 980l
i ST 70 fasedi § T 98l IR &1 999 Dl -
1. HaAB AR C
. Had A AR D
. Pad C IRD

4. HaAD IRE

| ]

LF5]



Options :

68634085085. 1
68634085086. 2
68634085087. 3
68634085088. 4

Question Number : 73 Question Id : 68634021536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tansen is the inventor of Raga:

A. Yaman

B. Mian Ki Tod:

C. Darbari Kanhada
D. Mian Malhar

E. Sur Malhar

Choose the correct answer from the options given below:

1. B. C and D only

(o)

.B. C and E only

.A.B And C only

L]

4. C.D and E only

Options :

68634085089. 1
68634085090. 2
68634085091. 3
68634085092. 4

Question Number : 73 Question Id : 68634021536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e grI g g
A TEA
B. figi &1 it
C. AR HIEIS]
D. [T AR
E. R HegR

e feu U fasedi 6 O el IR &1 904 SIfolu .
1. ¥ad B, C AR D

. P B, C ARE

. PIA A, B AR C

4, %9 C, D 3IRE

Options :

68634085089. 1
68634085090. 2
68634085091. 3
68634085092. 4

| S

[F% ]

Question Number : 74 Question Id : 68634021537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lochan mentioned ;

A. Raga Ragim system
B. Raga Dhyan system
C. Raganga system

D. Mela Raga system

Choose the most appropriate answer from the options given below:

1. A and D only

[

. B and C only
3. C and D only
4. A and B only
Options :
68634085093. 1
68634085094. 2

68634085095. 3
68634085096. 4

Question Number : 74 Question Id : 68634021537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :



No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e A auiE fpan 2

A I sl
B. YM-40H GG
C. IATHT &

D. Hd I 9gfd

= fqu U fae el 7 T 98l 3R $T 98- Hifol .
1. %ad A AR D

. PadB AR C

.%ad C 3R D

4. %ad A IR B

Options :

68634085093. 1
68634085094. 2
68634085095. 3
68634085096. 4

| S

Laa

Question Number : 75 Question Id : 68634021538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Commentators of Sangeet Ratnakara:

A. Singha Bhoopal
B. Kallinath

C. Faqirullah

D. Abhinavgupta
E. Pranab

Choose the correct answer from the options given below:

1. Aand E only

[

.Aand C only

. D and E only

L]

4. A and B only

Options :

68634085097. 1
68634085098. 2
68634085099. 3
68634085100. 4



Question Number : 75 Question Id : 68634021538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt IATPR F STRPRE

A. g yura
B. Bicay
C. Bhh o
D. AT
E. UG
i f4U U faeedi | ¥ HEl 3TR &1 98- Hifol :
1. Had A AR E
HAAAIRC
. PHadD AR E

4. Hdd A R B

Options :

68634085097. 1
68634085098. 2
68634085099. 3
68634085100. 4

| ]

LF5]

Question Number : 76 Question Id : 68634021539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which notes will be replaced in Bilawal to get the scale of Todi?

A

b

O I 12, =

B
E‘i
D.
E
Choose the most appropriate answer from the options given below:

1.A. B. CandE only

2.B.C.Dand E only

LFN]

.A.B. CandD only

4. A.B.D and E only

Options :

68634085101. 1
68634085102. 2
68634085103. 3



68634085104. 4

Question Number : 76 Question Id : 68634021539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fercTad § {oh- ORI & gad DR diel I g Ha?

w

SH=Ne
8 | |- e

= f3u v faw el & T Tgl 3R ST 98 Hiforu .
1.%dd A, B, C 3R E
2. %ad B, C,D AR E
3. Had A B, C 3ARD
4. HAAA. B, D HRE

Options :

68634085101. 1
68634085102. 2
68634085103. 3
68634085104. 4

Question Number : 77 Question Id : 68634021540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Talas have Tali on the 3™ beat?

A Thaptala

B. Rupak

C. Ada Chautala
D. Ektala

Choose the correct answer from the options given below:

1. A and E only

]

. Aand C only

L]

. B and D only

4. C and D only

Options :
68634085105. 1



68634085106. 2
68634085107. 3
68634085108. 4

Question Number : 77 Question Id : 68634021540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o= et & el I At 32

A. AT
B. &0

C. 3ATST Iiard
D. UHdrd

i< 3T 70 [dsedl § T 9el IR &1 949 Sifold
1. %ael A SR E

hdd A SR C

. %dd B SR D

4. Had C ARD

Options :

68634085105. 1
68634085106. 2
68634085107. 3
68634085108. 4

| ]

[F%]

Question Number : 78 Question Id : 68634021541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order chronologically of the following musicians.

A, Vilayat Khan
B. Syjat Khan
C. Enayat Khan
D. Sahabdad Khan
Choose the correct answer from the options given below:
1.D.C.A.B
2.C.D.A.B

.B.D.A.C

L)

4 A B.C.D

Options :
68634085109. 1



68634085110. 2
68634085111. 3
68634085112. 4

Question Number : 78 Question Id : 68634021541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad STaeRI &1 STamHAMER el HH U -

A. faarad @i
B. JoIId @i
C. TAad @i
D. HIgdalg Wi

i 3T 70 fasedl § T 98l 3TR &1 999 Biferd -

1.D.C.A.B

| ]

.C.D.A,B
3B, DA C

4 A.B.C.D

Options :

68634085109. 1
68634085110. 2
68634085111. 3
68634085112. 4

Question Number : 79 Question Id : 68634021542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of the historical development of musical forms of classical musie:

A. Dhruva Gana
B. Prabandha
C. Khyal
D. Dhrupad
Choose the correct answer from the options given below:
1.LA.B.D.C
2.C.A B.C

.B.D.C.A

L 5]

4D.C.A.B

Options :
68634085113. 1



68634085114. 2
68634085115. 3
68634085116. 4

Question Number : 79 Question Id : 68634021542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QAR Hiiid @1 Giviifde faunsii & Ufder¥e faery &1 9el »a Ifu

A. YaTTH
B. Hd¥Y
C. =T
D. f{Ua

- feu T fament | ¥ el SR 31 794 B .

1.LA.B.D.C

| ]

.C,A,B,C
3.B,D,C,A
4 D.C.A B

Options :

68634085113. 1
68634085114. 2
68634085115. 3
68634085116. 4

Question Number : 80 Question Id : 68634021543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the sequence of ragas according to the time theory of ragas from morning to evening.

A. Shuddha sarang
B. Alhaiya Bilawal
C. Malkauns

D. Multami

Choose the correct answer from the options given below:
1.LA.D.C.B
2.D.C.B.A

.B.A,D.C

L 5]

4.C,B,A.D

Options :
68634085117. 1



68634085118. 2
68634085119. 3
68634085120. 4

Question Number : 80 Question Id : 68634021543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T & FHY RHEid & SUR Ya§ ¥ WH 7P & I B Hel HH IHT:
A. Y& IR
B. 3fegdl faamad
C. T
D. gadrH!
= fau U fowed § ¥ Wel SR &1 904 S -

1.LAD.C.B

| ]

.D.C.B.A
3.B,A; D, C
4.C.B.AD

Options :

68634085117. 1
68634085118. 2
68634085119. 3
68634085120. 4

Question Number : 81 Question Id : 68634021544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of talas according to decreasing number of matras.

A. Dhamar
B. Tilwada
C. Dadra
D. Jhaptal
E. Rupak

Choose the correct answer from the options given below:

LBADECE

| B

.B.D.C.A.E
3.C.E.D.A.B

4 A B.D.C.E

Options :



68634085121. 1
68634085122 2
68634085123. 3
68634085124. 4

Question Number : 81 Question Id : 68634021544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl @1 O] SRe] & °d §U 981 0 Bl T :

A YAR
B. faearst
C. GTexT
D. JUdid
E. &0®

i 45U 70 fasedi § T 98l 3TR &1 999 Bifolg

1.B.A.D.E.C

| ]

By CrAGE
3G B DA

4 A.B.D.C.E

Options :

68634085121. 1
68634085122. 2
68634085123. 3
68634085124. 4

Question Number : 82 Question Id : 68634021545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct order of Raga having inereasing number of Vikrit swaras.

A. Ramkali

B. Jaijjarwanti

C. Brindabani sarang
D. Puriya Dhanashri

Choose the correct answer from the options given below:

1.C.B.D.A

[ ]

AD.B.C

.D.B.C.A

LFS]

4 A B.CD



Options :

68634085125. 1
68634085126. 2
68634085127. 3
68634085128. 4

Question Number : 82 Question Id : 68634021545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I H fagd TRl & UgnT i 9l T & 9R Hel HH I ;

e fau T fament ® ¥ el SR &1 997 S -

1.C.B.D.A

[ S

A.D.B.C
1iD.B,CA

4 A.B.C.D

Options :

68634085125. 1
68634085126. 2
68634085127. 3
68634085128. 4

Question Number : 83 Question Id : 68634021546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order in presentation of a raga for instrumental musie.

A. Maseetkhani Gat
B. Alap

C. Jhala

D. Razakhani Gat

Choose the correct answer from the options given below:

1.LA.D.B.C

[

.B.A.D.C

.B.D.A.C

L)

4.C.A,B.D



Options :

68634085129. 1
68634085130. 2
68634085131. 3
68634085132. 4

Question Number : 83 Question Id : 68634021546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aTeg it H I 4ERH Pl Hel v H MU

A FHiTEH T
B. 3TdY

C. ST

D. TSI T1d

i 4T 70 [deedl | T Uel IR &1 999 BifoT |

1.AD.B.C

[ ]

.BLAD.C
3.B.D.A.C
4 C.ABD

Options :

68634085129. 1
68634085130. 2
68634085131. 3
68634085132. 4

Question Number : 84 Question Id : 68634021547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of Talas according to the inereasing number of Talas:

A. Keharwa
B. Chautala
C. Rupak
D. Teevra

Choose the correct answer from the options given below:

1.D.A.B.C

[

.B.C.A.D

.C,A.B.D

LFN]

4 A.C.D.B



Options :

68634085133. 1
68634085134. 2
68634085135. 3
68634085136. 4

Question Number : 84 Question Id : 68634021547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fraferiad arel o drefl 1 Sedl $81 & 3THR el HH I .
A, gdd]
B. dfdrd

C.=Udh
D. digl

e fau T fament ® ¥ el SR &1 997 S -

1.D.A.B.C

[ S

.B.C.A.D
3.C.,A.B.D

4 A.C.D.B

Options :

68634085133. 1
68634085134. 2
68634085135. 3
68634085136. 4

Question Number : 85 Question Id : 68634021548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chronologically choose the correct order of the following texts:

A. Natyashastra

B. Sangeet Paryjat

C. Brihaddheshi

D. Swarmela Kalanidhi

Choose the correct answer from the options given below:

1.ACD.B

[

.B.C,A. D

.C,A.B.D

L)

4D.B.A.C



Options :

68634085137. 1
68634085138. 2
68634085139. 3
68634085140. 4

Question Number : 85 Question Id : 68634021548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fArafrRad Jul @1 ST HHER T8 hH gAY
A, TIeI=IE
B. Hiid il
b e T
e o e fa@ed | T el SR & 909 Bty -

1.LA.C.D.B

[ S

.B.C.A.D
3.C.,A.B.D

4 D.B.AC

Options :

68634085137. 1
68634085138. 2
68634085139. 3
68634085140. 4

Question Number : 86 Question Id : 68634021549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of the following Artists according to junior to senior.

A, Mushtaq Ali Khan
B. Barkat Ullah Khan
C. Ashique Ali Khan

D. Debu Chaudhuri

Choose the correct answer from the options given below:

1.D.ACB

[

B.C.D.A

.A.B.C.D

L)

4B.D.C.A



Options :

68634085141. 1
68634085142.2
68634085143. 3
68634085144. 4

Question Number : 86 Question Id : 68634021549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afifad ARl &1 HHY ¥ IR & 3FIER el o I
A. q=dIS 3Mell @i
B. §¥d 3ouig @l
C. 31 3l @i
D. &g 91eR
i< feu U fasedi o T 98l TR &1 99 Hifoy

1.D.A.C.B

[ S

.B.C.D,A

CA.B.C.D

%]

4 B.D.C.A

Options :

68634085141. 1
68634085142. 2
68634085143. 3
68634085144. 4

Question Number : 87 Question Id : 68634021550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Al X I. |Sam
B. |2.3.4 II. [Khali
C. IT1. Tali
D |0 IV, |Vibhag

Choose the correct answer from the options given below:
1. A- 1L B-IV, C-III. D-I
2. A-T. B-III, C-IV, D-II
3. A- TV, B-II, C-1, D-III
4. A-TII, B-I, C-II, D-IV

Options :

68634085145. 1
68634085146. 2
68634085147. 3
68634085148. 4

Question Number : 87 Question Id : 68634021550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 11 Y 11 9 e sifsn
T 1 T I

A X 1 oo

B. [2.3.4 I @l

C. | 111 [drelt

D. |0 IV. [[AHT

Fafatad Aol § O 9e! ST &1 994 Sl

1. A- IL, B-IV, C-III, D-I
2. A-1, B-III, C-IV, D-II
3. A- IV, B-IL C-I, D-III
4. A-TIL, B-I, C-IL, DIV

Options :

68634085145. 1

68634085146 2

68634085147. 3
68634085148. 4



Question Number : 88 Question Id : 68634021551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A |Somnath I. [Natvashastra
B. [Vvankatmakhi | II. |[Raga Tarangini
C. [Lochan IT1. |Raga vibodh
D. |Bharat IV. |Chaturdandi prakashika
Choose the correct answer from the options given below:

1. A- TV, B-IIL. C-I. D-II

| ]

.A- 1, B-II, C-II1, D-IV
3. A-TI, B-1, C-IV, D-III
4. A-TI1, B-IV, C-I1, D-I

Options :

68634085149. 1
68634085150. 2
68634085151. 3
68634085152. 4

Question Number : 88 Question Id : 68634021551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 11 Y= 11 ¥ e Sifen
Al 1 T 11
A famEEny I [remse
B. [@mendl 1L RPT &
C. [ 111, T fdelty
D. fRa IV. [ US|

FFefaRad fdeedi 4 O et 3R &1 9ua S -

1. A- IV, B-1II, C-I, D-II

| )

. A- I B-II, C-III, D-IV

CA-TIL B-I, C-IV, D-IIT

[ ¥]

4. A-TIT, B-IV, C-I1, D-1

Options :

68634085149. 1
68634085150. 2
68634085151. 3
68634085152. 4



Question Number : 89 Question Id : 68634021552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Uttarmandra I. |Shruti
B. [Ranjani I |Geeti
C. |Suddha IT1. [Raga
D. [Hameer IV. Murchana

Choose the correct answer from the options given below:

1. A-III, B-IV, C-I, D-II

| )

CA-1, B-II, C-III, D-IV
3. A- IV, B-1, C-II, D-III

4. A- 1L, B-IIL, C-IV. D-I

Options :

68634085153. 1
68634085154. 2
68634085155. 3
68634085156. 4

Question Number : 89 Question Id : 68634021552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 161 gl 11 ¥ i ifore
gl 1 Tt 11
A g I Jfd
B. [oHt I fiifd
C = TIL. R
D. [gdR IV. [g=s1
fFafiRad faeedl § U I8! TR &1 994 ST -

1. A-TII, B-IV, C-1, D-II

| ]

CA-TI, B-ILL C-III, D-IV

. A- IV, B-1, C-11, D-III

L]

4. A-TI, B-II1, C-IV. D-I

Options :
68634085153. 1
68634085154. 2



68634085155. 3
68634085156. 4

Question Number : 90 Question Id : 68634021553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Udgrah I. Jati Gana
B. [Karmara II. PMurchhana
C. |Gram IT1. PMandra
D |Saptak IV. [Prabandh

Choose the correct answer from the options given below:

1. A- IV, B-L, C-II, D-III

| B}

CA-T, B-I0, C-II0, D-IV
3. A-TII, B-IV, C-I, D-II
4. A-TI, B-III, C-IV, D-I

Options :

68634085157. 1
68634085158. 2
68634085159. 3
68634085160. 4

Question Number : 90 Question Id : 68634021553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 11 = 11 ¥ e Fife
T 1 T I
A 358 L [STfd T
B. [mHldl 1L [g=s1
C = I [iig
D. & IV. [oaid

Fafatad Aol § O 9e! 9w &1 994 DIl

1. A- IV, B-L. C-II. D-III

| ]

CA-T, B-IL, C-II0, D-IV

CA-TIL B-IV, C-1, D-IT

Cad

4. A-TI, B-III, C-IV, D-I

Options :



68634085157. 1
68634085158. 2
68634085159. 3
68634085160. 4

Question Number : 91 Question Id : 68634021554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A |72 Melakarta I. |Raga Tarangini
B. [Classification of Janva Raga into 12 Thats| II. [Sangeet Ratnakar
C. [Placement of 14 swaras on veena ITT. |Swaramela kalanidhi
D |Reference of Antarbhasha Ragas IV |Chaturdandiprakashika

Choose the correct answer from the options given below:

1. A- IV, B-1, C-III, D-II

| B}

CA-TI0L B-I0, C-1, D-IV
3. A-II, B-III, C-IV. D-1

4 A-1, B-IV, C-II, D-III

Options :

68634085161. 1
68634085162. 2
68634085163. 3
68634085164. 4

Question Number : 91 Question Id : 68634021554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 1 61 T 11 ¥ T ifere

i1 At I
A |72 da®al I R it
B. |12 yrel & 9= T &1 gl | 1L [Siid Idie
C. [FI01 TR 14 TGRI & 1T 1L [ Od Sanaiy
D. |erymm 3T &1 == IV. [aqaiosuaTd]
fFafiRad faeeql § O 981 SOk &1 904 ST -

1. A- TV, B-1, C-III, D-II

| ]

CA-TIL B-1T, C-I, D-IV
3. A- 11, B-III, C-IV, D-I

4. A- I, B-IV, C-1I. D-III

Options :

68634085161. 1
68634085162. 2
68634085163. 3
68634085164. 4

Question Number : 92 Question Id : 68634021555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
EMPN I. |Patdesp
SGMPN 1I. [Suddha Sarang
SGMPN ITT | Des

5 R }.I[ PN IV Bihag

o [o]m[>

Choose the correct answer from the options given below:
1. A-TI, B-IIL, C-L, D-IV
2. A-1II, B-L. C-IV, D-II
3. A-1, B-IV, C-II, D-III

4. A- TV, B-1I, C-II1, D-I

Options :

68634085165. 1
68634085166. 2
68634085167. 3
68634085168. 4



Question Number : 92 Question Id : 68634021555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 11 g= 1 ¥ e sifse

I e I
A RgTH I [oeay
B. [guuudl [ [Es9RT
C
D

CETHUA (UL [E"
[Eigud | [fEem

afiRad f[dsedl U Tt 3T &l 98- B -

1. A-TI, B-I11, C-I, D-IV

[ ]

CA-TIL B-I, C-IV, D-IT

CA-T, B-IV, C-11, D-III

Lad

4. A- IV, B-1I, C-III, D-I

Options :

68634085165. 1
68634085166. 2
68634085167. 3
68634085168. 4

Question Number : 93 Question Id : 68634021556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |[Violin . [Viswamohan Bhat
B. [Sitar 1I. |Shivkumar Sharma
C. |Guitar III. IV.G. Jog
D. |[Santoor IV. [Balram Pathak
Choose the correct answer from the options given below:

1. A-III, B-IV, C-1, D-II

| )

CA-TV, B-IL C-1, D-II
3. A- 1, B-II, C-II1, D-IV

4. A-11, B-1, C-IV, D-IIT

Options :

68634085169. 1
68634085170. 2
68634085171. 3



68634085172. 4

Question Number : 93 Question Id : 68634021556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 61 Al 11 ¥ T Sifere
el 1 T I
A [g@feE I [[ayHIEa He
B [dR 1L |39 oaR =
C. [fer 1L [t =i &
D. [f@ V. [eqm U
fAafifad Aol § O 981 SR &1 904 SIS -

1. A-TII, B-IV, C-1, D-II

| ]

CA-TIV, B-III, C-1, D-II

CA- T, B-IIL C-III, D-IV

Lad

4. A-T1, B-1, C-IV. D-III

Options :

68634085169. 1
68634085170. 2
68634085171. 3
68634085172. 4

Question Number : 94 Question Id : 68634021557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Mushtag Ali Khan | [ |V. D. Paluskar
[Ravi Shankar 1I. [Inayat Khan
Ombar Nath Thakur 11 JAshique Ali Khan
Vilavat Khan TV JAllaudin Khan

2 [o]o]=]=

Choose the correct answer from the options given below:

1. A- 1L, B-L, C-IIL, D-IV

| B}

CA-TILL B-IV, C-1, D-IT
3. A-TV, B-III, C-11, D-1

4 A-1, B-II, C-IV, D-IIT

Options :
68634085173. 1



68634085174. 2
68634085175. 3
68634085176. 4

Question Number : 94 Question Id : 68634021557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 61 T 11 ¥ T ifere

AT 1 T 11
e st | 1 [A S1 o
HERIGES IL [g9/™d @i
PR 1Y BT 1L |31 3l @l
N ERIEGEED IV [3erdg A @i

fFafiRad faeeql § O 981 SOk &1 904 ST -

1. A-1I, B-I, C-III, D-IV

o|a|w| e

| ]

CA-TIL B-IV, C-1, D-II

. A- IV, B-1II, C-II, D-1

L]

4. A- 1, B-II, C-IV. D-III

Options :

68634085173. 1
68634085174. 2
68634085175. 3
68634085176. 4

Question Number : 95 Question Id : 68634021558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST I
A Meend I |(®)
B. [Kan Imjo-2.34
C. [Krintan 1. @
D. [Khali-Tali IV. |G

Choose the correct answer from the options given below:
1. A-TII, B-IV, C-1, D-II
2. A-1IV, B-11, C-II1, D-1
3. A- 1, B-III, C-IV, D-II

4. A-11, B-1, C-IV., D-III

Options :

68634085177. 1
68634085178. 2
68634085179. 3
68634085180. 4

Question Number : 95 Question Id : 68634021558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 61 T 11 ¥ T ifere
el 1 Tt 11
A {ig L
B oo T |0-2.3.4
C fpaa T @
D. [@rel -drel |1V g
fFafiRad faeedl § 3 T8 TR &1 994 BT -

1. A-TII, B-IV, C-1, D-II

| ]

CA- IV, B-ILL C-II0L, D-I
3. A- I, B-1II, C-IV, D-II

4. A-TL B-1. C-IV. D-III

Options :

68634085177. 1
68634085178. 2
68634085179. 3
68634085180. 4



Question Number : 96 Question Id : 68634021559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Sangeetanjali I. |Sharandev
B. [Shri Mal Lakshyva Sangeetam| 11 |Somnath
C. |Sangeet Ratnakar II1. | V. N. Bhatkhande
D. [Faga Vibodh IV, |Omkar Nath Thakur
Choose the correct answer from the options given below:

1. A-TII, B-IV, C-IL. D-I

| ]

.A- 1, B-II, C-II1, D-IV
3. A-TV, B-III, C-I, D-II

4. A-11, B-1, C-IV, D-IIT

Options :

68634085181. 1
68634085182. 2
68634085183. 3
68634085184. 4

Question Number : 96 Question Id : 68634021559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 11 Y= 11 ¥ e Sifen
T 1 T I
A [ridiSfE I. BICd
B. [ Aeoiagd IL [FE1Y
C. [gilidi@®y |01 [d) vq uads
D [ fas IV_ |3l RATY 3Ty

FFefaRad fdeedi 4 O et 3R &1 9ua S -

1. A-1II, B-IV., C-II, D-I

| )

. A- I B-II, C-III, D-IV

CA-TV, B-1II, C-1, D-IT

[ ¥]

4. A-TI, B-[, C-IV, D-IIT

Options :

68634085181. 1
68634085182. 2
68634085183. 3
68634085184. 4



Question Number : 97 Question Id : 68634021560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Ektal and Chautal are played with Vilambit khyal and Dhrupad respectively.

Statement II: Ektal and chautal consist different number of matras . hence these can be played with any forms
of classical musie.

In the light of the above statements. choose the correct answer from the options given below.
1. Both Statement | and Statement Il are true
2. Both Statement | and Statement || are false
3. statement | is true but Statement Il is false

4, Statement | is false but Statement Il is true

Options :

68634085185. 1
68634085186. 2
68634085187. 3
68634085188. 4

Question Number : 97 Question Id : 68634021560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYA 1. U aTd auT diare, [9cifdd Sare auT y§us & 91y aeils ol 6|
%?liﬁn: UShard aul diard B JETT (79 § SO O Ity 9iitd P fadt +ff faur & 91y aors o 9ot
SURISKI Y- & 3fTelies 1, A< 4T 7 fasbedl & ¥ Ted Iugd] IR &1 99 HIfuIU;
1. HYUF 1 SR 11 ST Tt €
YA ARG TTd &
. HYF 1 HG! §. A HUH 11 7Te7d ©

4. BYT17TAd 5, AfpT HYUT 11 5t §

Options :

68634085185. 1
68634085186. 2
68634085187. 3
68634085188. 4

[ ]

[F%]



Question Number : 98 Question Id : 68634021561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Dhrupad 1s sung with Chautal.

Reason R: Chautal 15 played on Pakhawaj and Dhrupad 1s always accompanied by Pakhawa;.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

[

. Both A and R are true but R 1s NOT the correct explanation of A
3. A1s true but R 1s false

4. A 15 false but R 1s true

Options :

68634085189. 1
68634085190. 2
68634085191. 3
68634085192. 4

Question Number : 98 Question Id : 68634021561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?ﬁﬁﬂ’iﬁﬂﬁmm % Udh HfYHUT (Assertion A) & 30 ¥ fofad %fﬁwmw (Reason R)%Q?_q
|

HUFHUT A: YIS Fae & 1Y T ST 8

HRUI R: FIaTd Ueaael UR dellg, Sl o 3R U &) S Hal yarad o 91 6ld! 6|
SR HYA & el H, = 34U 7Y faeodl § 9 981 STk &1 997 DT

A SRR EH I E SRR, AP &l R &
CASRRIFITUE AR R AP U5l AR 6l &

AT AR TS S

ATSI TR AR TG ©

Options :

68634085189. 1
68634085190. 2
68634085191. 3
68634085192. 4

[a—y

| ]

L]

=N



Question Number : 99 Question Id : 68634021562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Sandhiprakash ragas are performed between 4.00 to 7.00 o'clock morning and evening.
Reason R: All ragas can be sung/played between 4.00 to 7.00 o'clock morning and evening.

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct and R 13 NOT the correct explanation of A

. A 15 correct but R 1s not correct

L 5]

4. A is not correct but R is correct

Options :

68634085193. 1
68634085194. 2
68634085195. 3
68634085196. 4

Question Number : 99 Question Id : 68634021562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3l PYF [T U §, U SIU@HYUT (Assertion A) P oY 1 [T © O G4 3Hd HRUT (Reason R)PH Y
o

YT A: I W1 I BT YERA 4.00 H 7.00 §9 & HIdR Gog auTIE S gl ¢ |

BRI R: T T 4.00 F 7.00 Fo & e YIE qUT ¥ 7MY FolTU o Hehvdl g |
SR BYA & el |, A= U 7Y fdwodl § 9 g1 SR &l 99 SIfT:
ASIRREF T § IR R, AP A5l ARAT ©

A SRREH 9§ SR R, A D! 931 IR 5l ©

AT AR T AR

ATE IR APTR el ©

Options :

68634085193. 1
68634085194. 2
68634085195. 3
68634085196. 4

[a—y

| ]

5]

=N



Question Number : 100 Question Id : 68634021563 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Faiaz Khan was considered as a representative of Agra Gharana.
Reason R: Faiaz Khan was son of Safdar Hussain Khan.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are correct and R 1s the correct explanation of A

[

. Both A and R are correct and R 13 NOT the correct explanation of A

. A 15 correct but R 1s not correct

L5 ]

4. A is not correct but R is correct

Options :

68634085197. 1
68634085198. 2
68634085199. 3
68634085200. 4

Question Number : 100 Question Id : 68634021563 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 & Y [GU U &, U DY (Assertion A) & ¥4 H [TRET 8 A GERT 3Hd HRUT (Reason RS T
g

DU A: BU @i PR BRI & Hid1E A &1d g

BRI R: B Gl GheR gai @ d gF Y |

SURIdd By & 3fTalid |, A1 f4u Ty fdwedl § 9 Hgl SR &l 999 HIfT:
ASIRREF G § IR R, A A5l ARAT ©

[a—y

| ]

A SRREH T T 3R R, AP & U TS ©

ATSEAPIR IR R
4 AT T e AR TRl ©

Options :

68634085197. 1
68634085198. 2
68634085199. 3
68634085200. 4

Lad



